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11.

The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 120 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

Illustration:

1. Thesumof20and 12 is

(@ 32 (b)38(c)31(d) 34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

| @CXO()

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Controller of Examination

FT e B o o favie /gl 3t Rufa & sl & o0 u=a & sifow T smem|

Please note that in case of any confusion, the question printed in English will be considered final.






56.

57.

58.

59.

60.

Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
makein 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. S5cm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18 cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

a. Centroid

b. Incentre

c¢. Orthocentre
d. Circumcentre

If angles of measure (5y + 62°) and (22° +y)
are supplementary, then value ofy is:

a. 16°
b. 32°
c. &8°
d. 1°

19

56.

57.

58.

59.

60.

HTET 25 B¢ #H 50 Fdh FeIT Fohdd &, AT 3R
37079 AT 15 8¢ H 75 heh daAT Thd 2l
37979 15 8¢ H fFdal Shah &1 TehdT 87

a. 25

b. 45

c. 20

d. 10

gfE 7 AFRAT 7 oA H 7 ) 9aATAT & aF 1

HAehal 1 1ol forder feal & garwaf?

a. 1

b. 7/2

c. 7

d. 49

olleT 83T T hleT-TT Foead ST el el

HehT?

a. 53" 6 9, 7 AT

b. 5 THY,8 TAT, 15 THT
c. 8T 15 [T, 18 TAY
d. 6T, 78+, 113+

T TS & 3ieY U vk fog p Fegst & ot
& AT g R g1 7 Fegst 7 pElar &

1

IfE AT & FIT (Sy + 62°) AR (227 +y) TR §,
ary HT AT

16°

32°

g

10

a0 oo



61.

62.

63.

64.

65.

66.

67.

Emile Durkheim is considered as-

a) Father of Sociology of Education
b) Father of Educational Sociology
c) Father of Sociology

d) Father of Educational Psychology

The secondary institution of
socialization is-

a) Family

b) Peer group

c) Marriage

d) School

Who said, ”Self and society are twin.”

a) Mead
b) Cooley
c) Freud
d) Durkheim

Brain washing is an example of-
a) Negative socialization

b) Anticipatory socialization
¢) Re-socialization

d) De-socialization

The first need of human being as per
Maslow’s need theory is-

a) Security need

b) Physiological need

¢) Social need

d) Safety need

The institutions of education during
Buddhist period is-

a) Sangh

b) Gurukul

c) Tol

d) Ghatika

The principle aim of Vedic education is-

a) Character development
b) Worldly pleasure

c) Physical development
d) Wealth achievement
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ufier gufe T AT S -

a) 8T & AT &1 Odr
b) Affte FATSIET F ST
C) HHTSIE &1 Tar

d) Afgrs AAGAT &1 S

FATSEROT T Tacdos dTar § -
a) 9RaR

b) HeHAT THE

c) faaE

d) Tcare

a) Az A
b) el o
c) WIS &

d) guffer =

ST aTfRNT U 3ETERT §-
a) FARRIcHS THATSHHIOT HT
b) wcafRIa AR T
C) Yol HATSIRIOT T

d) faEHATSIRIOT F1

ATEAT & 3TIThal g & HAAR HJ

HT ggell TIThT ¢ -
a) &I HT TR
b) MRS 3MMaeTyShdar
c) HHISS HaeThdT
d) e fT TR

gapreitar FAGT & FEATT g-
a) €9

b) Tepe

c) crol

d) afesr

afeen RueT #1 7AET 36827 §-
a) aRkT A
b) wraiE ga
¢) IR fawra
d) &eT 39elieyr



68.

69.

70.

71.

72.

73.

74.

75.

Paulo Freire is known for-
a) Education of oppressed
b) Education of deprived
¢) Education of disabled
d) Education of privileged

The 10+2 education system is being
replaced by-
a) 5+3+3+4
b) 3+5+3+4
c) 4+3+3+5
d) 3+3+4+5

The ceremony for initiating education
during Buddhist period was-

a) Vidyarambh

b) Pabajja

¢) Samaavartan

d) Punsavan

Nirvana is the ultimate aim of-
a) Jain darshan

b) Buddhist darshan

¢) Vedic darshan

d) Sankhya darshan

Education for all involves-
a) Integrated education
b) Special education

¢) Inclusive education

d) Teacher education

The concept of cultural lag is proposed

by-

a) Lindgren
b) Ogburn
c) Stewart
d) Drewer

Law of effect is law of-
a) Motivation

b) Measurement

¢) Adjustment

d) Learning

Projective technique is-
a) Questionnaire

b) Sociometry

¢) Dream analysis

d) Rorschach inkblot test
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I3al BRI fohdeh foIv ST 1T &-

b) afadr dr frem

c) Tasherrett r fremm

d) TAAWIRSR wrea e

10+2 &1 gotrell & fohdeh garT gfaeariig
fehar S e 8-

a) 5+3+3+4

b) 3+5+3+4

C) 4+3+3+5

d) 3+3+4+5

dgwid H AT 3MRFT I T TARIE UT-
a) foemeser

b) gsear

c) HTGT

d) gaas

faToT fohaenr sifeddt 389 -
a) Sl g¥eT

b) dg sefa

c) dfew g

d) ared g

el & forw fRuem aFafad aar g-
a) TehIhd TRI&tm

b) faory frew

c) wATARA fremw

d) et e

TiEpideh Taemeeell 6T JaURo e
BRI TEdIad 8-

a) foisaa

b) 3ifeTes

c) ¥ac

d) 3R

giTa &1 fAad foraer f@ad g-
a) 3TUTOT &'

b) AT T

C) HARS &l

d) femE# @ r

J&dRT dehsileh &-

a) geTael

b) waAAATY
c) Face favelvor

d) el FE-trear gdaTor



76.

77.

78.

79.

80.

81.

82.

Education of 3H, proposed by M. K.
Gandhi does not include-

a) Heart

b) Health

¢) Hand

d) Head

An important basis of democracy in
education involves-

a) Individual liberty

b) Piety

c) Personal superiority

d) Individual difference

An idealistic philosopher is-
a) Dewey

b) Karl Marx

c) Frobel

d) Rousseau

Lag between materialistic and non-
materialistic culture can be removed by
a) Law

b) Education

¢) Revolution

d) Direction

Who considered, ‘education is dynamic
aspect of philosophy’ ?

a) Adams

b) Fichte

c) Dewey

d) Russel

Child centered education is contribution
of-

a) Idealism

b) Naturalism

¢) Pragmatism

d) Existentialism

The basis of basic education is-
a) Yogic philosophy

b) Vedic philosophy

¢) Realistic philosophy

d) Sarvodaya philosophy
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. TH. &. I ganrT gEaifad 3 H $r e 7
giFAferd &l &-
a) g€
b) eu
c) gUs
d) &

AT # diepden & Teh HAgeaquT MR #H
giEAfd -

a) cTTFderd ¥l

b) gfg=ar

C) chTFdAaTd ASST

d) =afFderd 3R

e e ardfas &-
a) sgfa

b) et AT

c) Wisd

d) war

Hitarer AR i dEplfd & 7L seare
e gRT gy fRam ST @ohell B-

a) lefsl GRT

b) f&T g™

c) Hifd &I

d) e gra

foraer gt & el 1 Afaier geel &-?
a) UsFE o
b) frwe
c) 3dr o
d) e

I hiegd RIS F IWTEET 8-
a) edarg A

b) uysfaarg

¢) YISl &

d) 3fedcaarg #

giergrer et #1 3R g-
a) IfAF g

b) i o=

¢) IYUHaArEr g

d) wdfea gt



83.

&4.

85.

86.

87.

88.

89.

The basis of emotions is-
a) Society

b) Instinct

c) Sex

d) Gender

Emotions are helpful in-
a) Socialization

b) Characterization

c) Adjustment

d) Re-socialization

The attraction towards male and female

adolescents is due to-

a) Intellect differences
b) Physical differences
c) Sexual differences
d) Emotional differences

Mainly pacesetter schools are-
a) Central schools

b) Vocational schools

c¢) Sainik schools

d) Navoday schools

Education is enlisted under-
a) Central list

b) State list

c) Concurrent list

d) As per state policy

Which word is/are added by 42th
constitutional amendment -

a) Socialist only

b) Socialist and Secular only

c) Socialist and Integrity only

d) Socialist, Secular and Integrity

Which amendment of Indian
constitution is termed as mini-
constitution?

a) 421

b) 47%

c) 21%

d) 86"
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HAIT FT ITUR &-
a) AT
b) g
c) e
d) fefar

a) AT &
b) fadwar &

C) HATAST H

d) 9o gt #

et T et & 3medor &1 SRt -
a) e fig

b) e s

¢) e fig

d) JHgaTHE AT

AL T F TR T -
a) A faemer

b) saEERS Thor

c) i Fpel

d) ey fae

R & Feiiee R T &
a) HET g A

b) =T g #

¢) wHad g A

d) e #r AT & a7

42 9 GigU FMUT gRT HidA AT Asg AT
T Bl

a) Hhaol HATSIATET

b) Faor gATEEE IR eEATIET

C) %had FASERET iR 3Rgusdr

d) gATSER, gafawder 3R srausar

HRAY Ffaers & fha dMus I og-
afaersT Fer =T &2

a) 42ar

b) 474

c) 2lar

d) sed



90.

91.

92.

93.

94.

95.

Transfer of a teacher from one
secondary school to another primary
school will be termed as-

a) Horizontal mobility

b) Vertical mobility

c) Opposite mobility

d) Downward vertical mobility

The range of 1.Q. for average students
is-

a) 61-70

b) 91-100

c) 101-120

d) 121-140

Intelligence tests may be used for-

a) Guidance only

b) Classification only

¢) Guidance & Classification only

d) Guidance, Classification &
Admission

Rules of learning were proposed by-
a) Thorndike

b) Pavlov

c) Skinner

d) Guilford

The educational thought of M. K.
Gandhi was published in-

a) Young India

b) Harijan

c) Kesari

d) Swadhin Bharat

The entrance test was conducted in
Buddhist educational institution of
Nalanda by-

a) Kulpai

b) Kuladhipati

c) Dwar-pandit

d) Upkulpati
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Teh fRAeTeh 1 U ATeAfAS facarera &
g rafAs faeared & FAieRoT Fgr
STTaTT-

a) aifasr aifaeferar

b) ceaaa afasiierar

c) faulia arfaefrerar

d) 3UeTHET sead faefierar

aa st & fav ghgafsy H @ g-
a) 61-70

b) 91-100

c) 101-120

d) 121-140

gfeg GETON & ST fRar ST HerdT §-
a) had fAgereT

b) Shac geffeoT #

c) whad Ageer 3R Faffeeor 7

d) &eE, geffesor 3k gaer &

A & A wEdriad fhv aw -
a) UEASISH o
b) drgela o
c) Rl o
d) Freers &

maﬁvﬁtﬁw@r@aﬁwmﬁagmm-
a) Iar sfear &

b) gReeT &

c) Halr A

d) Tarfed 9Ra &

dlcieaT & dleg fALTOT TEATT F Far et
IMRANTST Fr ST oA

a) WZ‘TRT

b) Fanfafa grr

¢) gR-ufsd gRr

d) 3ugperafd g



96.

97.

98.

99.

100.

101.

102.

Classical conditioning theory was
proposed by-

a) E. L. Thorndike

b) B.F. Skinner

c¢) Ivan Pavlov

d) Woodworth

Rank difference method of correlation
was proposed by-

a) Spearman

b) Pearson

¢) Garrett

d) Fisher

Zakir Hussain Committee Report is
related to-

a) Primary education

b) Secondary education

¢) Higher education

d) Basic education

Which philosophy accepts that “Truth is
not static’-

a) Existentialism

b) Realism

c) Pragmatism

d) Idealism

Emile is related to -
a) Naturalism

b) Pragmatism

c) Idealism

d) Realism

Father of 'Educational Sociology' is
a) George Payne

b) Emile Durkheim

¢) Max Weber

d) Mclver & Page

Consistency of results by any test is
termed as-

a) Test validity

b) Test reliability

¢) Test norms

d) Test objectivity
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AT JefeerT Rigred fohaer gedrfad
T I or-

a) §. Tdl. USEH o

b) & T RFheX o

C) 3ald Urgdlid of

d) gsad &

%A 3oy Feded Ay fhass garT wedrfad
;T TS AN-

a) TIRRA

b) Rz

c) e

d) fReR

ST giel afAfa i RurE weafeed &-
a) wrafAw fer 4

b) #eafAE fRem &

c) 3Tg T ¥

d) S Rer &

HieT gl FTRAT ¢ o acg R 787 §-
a) Aiedcaarg
b) TUrdarg
) TAISTAdTe
d) 3meeare

e Jeafeard & -
a) ehfdare &
b) cTraERear &
¢) 3geag |
d) Furdar &

STferesh FHTSTOTE & S § -
a) SISt 9T

b) THTES FRE

c) "9 Ja7

d) HFTZaT T UST

oY odtetor T IRUMA FITAAT FgelTdl &-
a) YYeToT dYyar

b) wreror fAeEEsar

C) YYI&TUT HIeIGUs

d) odietor fesuatar




103. The best method to control extraneous
variables is-
a) Elimination
b) Counter balance
c) Consistency
d) Randomization

104. Stephen M. Corey is related to-
a) Behavioural research
b) Action research
c) Applied research
d) Fundamental research

105. In research the main aim is to study-
a) Sample
b) Population
c) Tool
d) Variable

106.Who believed that the major cause of social
change is class struggle?
a) Talcott Parsons
b) Merton
¢) Karl Marx
d) Emile Durkheim

107. The size of sample in research is
determined on the basis of-
a) Nature of study
b) Topic of study
c) Tool/s of study
d) Delimitation of study

108. The hypothesis that ‘Prize increases
academic achievement’ is an example
of-

a) Null hypothesis

b) Directional hypothesis

¢) Non-directional hypothesis
d) Alternate hypothesis

109. Random table is developed by-
a) Tippet only
b) Fisher only
c) Spearman only
d) Tippet and Fisher both
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e WT FF AT W Fr Fafan G -
a) 3

b) FEex s

C) HIrddr

d) Irefooeor

a) SYIEN Sigeerd A
b) FraTcHS srgdeae A
C) JTTIIFA ST A
d) Aifors srgeae &

MY H ATT 3682 MEYTA LT 8-
a) & gfagel &

b) JaEEAT F

C) 3YHUT HI

d) = &

TRt faeame g B | afeds #1999
FET FHTLOT a9 TG &2

a) ZTeThe qIEHH

b) T

c) A AIFT

d) uferer giEw

Mg FH gfded F IR fhaed MR )
el frar smar &-

a) 3T I Jehfc

b) srewEe @1 Avy

C) 3TETJT & 3UHIUT

d) sreaasr &1 oA

IReheTedl, RERR F AT&Th 3qfer &
gfeg gial &1 Uk 3eTeRoT -

a) I ARSI H

b) RemcH® gReedaT FT

¢) IR-feemcAs IRFeTaT AT

d) dwfeds aReeusr Hr

109. 57 |iikoft frass ganr fsfaa #r a5 &-

a) ohde feuc

b) e R

C) had TIRRHAA

d) e 3R R gt



110.

111.

112.

113.

114.

115.

116.

The eradication of untouchability from Indian
society is related to the article of Indian constitution

a) 17
b) 18
c) 19
d) 20

One of the following is not a type of
rating scale-

a) Graph scale

b) Level scale

c) Statistic scale

d) Social difference scale

Null hypothesis is also known as-
a) Research hypothesis

b) Directional hypothesis

¢) Non-directional hypothesis
d) Statistical hypothesis

Project method is contribution of-
a) Karl Pearson

b) John Best

c¢) Kilpatrick

d) Fisher

The statistical average value known by
all is-

a) Mean

b) Median

c) Mode

d) Central tendency

The indication of positional value is-
a) Mean

b) Median

c) Mode

d) Percentile & Median

Term educational technology was
proposed by-

a) Sidney Pressey

b) Brynmor Jones

c) Leith

d) Hadden
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AT FHTST & FLTLIAT Tl TATH FHIAT

AT HfaeTe A= o grfad § -

a) 17
b) 18
¢) 19
d) 20

fArafaf@a & T That 1 JHR AL §-
a) ATH AT

b) T FT AYAT

c) WIS AT

d) @ 3R AL

T IRBTAT F AT AT -
a) 3HeTEUTT IRFeTAT A
b) Remcas aReeqar &
¢) IN-feemcHs aREFeTar &
d) wifeghra aREedar &

RS Ueglel TRdeRT TNaTere §-
a) ol [Ogea @

b) JfeT sFC @

c) frerdfesd &1

d) fRer &r

a) HAEY

b) FrfeTe
c) gl

d) Feir ugha

R A &1 g §-
a) ALY
b) TR
c) gl
d) ufderais 3R AfegHr

Aferer Mrenfirst ereg @1 ywaT fRas
SanrT fohar arar or-

a) Tassr o

b) AR S

c) oy

d) &s=



117.

118.

119.

120.

In Flanders classroom interaction
analysis technique, the number of
teacher talk categories are-

a) 10

b) 7

c) 4

d) 2

Forward branching type of programme
instruction involves-

a) Progress always on new frames

b) Repetition of missed frames

¢) Repetition of new frames

d) Drop of new frames

IGNOU was established in the year-
a) 1984
b) 1985
c) 1986
d) 1987

Basic teaching model was proposed by-
a) Robert Glaser

b) B. F. Skinner

¢) Marsha Weil and Bruce Joyce

d) J. H. Bruner

117.

118.

119.

120.
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TFolsd FHaTTena] 3d:fohar faRevor qeheilen
H et wueT Hoiar fr & g-

a) 10

b) 7

c) 4

d) 2

BRAS ST bR & WA STeFqd F
afFafad &

a) BHUT AT HA W yarfa

b) ¢ gu A H G

) AT %A Hr GRIGRT

d) FT A HT Fear

3] T FUTET A H :e:é’ ofr-
a) 1984
b) 1985
c) 1986
d) 1987

affe fRretor gfdars frasd garT wearfaa
e I -

a)TTE’é'W

b) & F FwER

c) #R ae IR g7 Sw

d) ST g1



